PROFESSIONAL EXAMINATION BOARD

Police Recruitment Test : 2016
7th September 2016, 02:00 PM
Topic:- Chemistry
1)
Question Stimulus :-

Naphthalene contains 93.71% carbon and 6.29% hydrogen. If its molar mass is
128 g mole'1, then its molecular formula will be - / AR & 93.71% @16 3R
6.20% BT3SIoH §, Ul HIaR AT 128 mole™! 3 df SYST VRS M-

e CgHg
®* CyoHs
CioH1o0
* CgHg
Correct Answer :-C;oHg
2)

Question Stimulus :-

Which of the following contains highest number of atoms? / FAfafad # ¥ 19
Haffire TRATY] e aTer 82

e 1.0g of water/ 1.0g qrt

« 1.0 g of silver/ 1.0 g Ryeax

e 1.0 g of nitrogen/ 1.0 g T-I@Trﬁ

e 1.0 g of propane/ 1.0g U=
Correct Answer :-1.0 g of propane/ 1.0 g iNE]
3)
Question Stimulus :-

When the temperature of an ideal gas is increased from 27°c to 94DC, the kinetic

energy will be - / afe fft 3mesf A9 &1 91w 27°c ¥ *4 ¢ gerar 9/, A IS Afas SHelf -



Same/ RIS LA

Four times/ iﬁ'ﬂ:ﬁ Hull
Twice/ iT{F—ﬂ ghft

No effect/ &S UHTG T8l g1

Correct Answer :-Four times/ I gRft

4)
Question Stimulus :-

Magnetic quantum number for the valence electron sodium is - / TIf$9H &

TUISTHdT B & FAGET Dt DI FdicH BT 8-
*0
e 1
e 2
« 7
Correct Answer :-0
5)
Question Stimulus :-

The correct order of radii is - / 34T &1 T8 4 2-
e N<Be<B
e F'<O02"<N3"
* Na<Li<k
« Fe3*<Fe2*<Fe*t
Correct Answer :-F"<02"<N3-

6)
Question Stimulus :-

Which of the following has largest size?/ fAfeifaa § ¥ 9@ g1 3MeR 5T o182



e Al
e« Alt

A|2+

® A|3+
Correct Answer :-Al

7)
Question Stimulus :-

A Ne%v carbon-carbon bond formation is possible in- / T PTaA-PTa § BT I1
JHd g -

« Cannizzaro reaction/&+IoRI fufsrar o
Friedel craft reaction/ flrsa w1ue siftfear
Clemmensen reaction/ FR-g fUfsrar &
All the above/ SURIad gt

Correct Answer :-Friedel craft reaction/ frsa wroe srfufear

8)
Question Stimulus :-
Among the following the strongest acid is- /Fefafaa § vyaa sna 8-

HC =CH

.
* CgHg
* CyHg
e CH3OH

Correct Answer :-CH30H

9)

Question Stimulus :-



Toluene reacts with chlorine in the Presence of light to give- / U&= &1 Iufyfd A
oIq T @1 Srfufshar TR | HR15 Sl @ ) T gidr 8-

 Benzyl chloride/ S9TSd FARISS

« Benzoyl chloride/ dWlI3d FIRISS
e p-chlorotoluene/ p-ﬂ%ﬁ?’faﬂﬁﬁ

« o-chlorotoluene/ o-FRI ETqR
Correct Answer :-Benzyl chloride/ aTrﬂ?z?r ﬂ?ﬁm

10)

Question Stimulus :-

Which of the following is a coloured gas - / fFrafafaa # 9 #9349 8-
* N,O
* NO
* N,O,
* NO,
Correct Answer :-NO,

11)
Question Stimulus :-

Aqua regia is a mixture of - / ¥aar Sforr fAyor 8-
« HNO3 and H,SO,4 / HNO3 3iR H,S0,4
« HCI and H,SO4 / HCI 3R H,SO,4
« HNO3 and CH3COOH / HNO3 3R CH3COOH
e HCl and HNO3 / HCI 3R HNO3

Correct Answer :-HCl and HNO3 / HCI 3R HNO3

12)



Question Stimulus :-

The alkaline Potassium Permanganate solution is known as- / &I‘Iﬁqlﬂ%ﬁmﬂ
WRATHE fAqas s 8-

* Molish reagent/ Hifersr ifysd®

- Baeyer’'s reagent/ SUR 3fHHHSD
 Fehling’s solution/ Wafer faea=

e Benedict’s solution/ sfafeee faaa=

Correct Answer :-Baeyer’s reagent/ IR AfYFHS
13)
Question Stimulus :-

If a neutral solution has pKw = 13.66 at 20°C then pH of the solution is- / Pew
IeRiA faeraa &1 pkw = 13.66 & 1 39 fa@ad &1 pH gI-

* 6.63

e 7

e 7.63

e None of these/ s=|1?r 3] ﬂﬁi el
Correct Answer :-6.63

14)

Question Stimulus :-

The shape of ClO4 is- / ClO4” Pl PR %—
e Square Planer/ T gHg
« Square Pyramidal/ g fiRifasha
¢ Tetrahedral/ Igsha®g
e Trigonal Bipyramidal/ ﬁ‘ﬁﬁﬂﬂm

Correct Answer :-Tetrahedral/ a‘g'wa?ra



15)

Question Stimulus :-

For the reaction: f2 +12 = 2HL AH 5,4 AU 316 related as - / 2 712 = 2HL gifYifgrar & forg

AH gy AU ey g1
o AH 5 AU
o AH o AU
o AH — AU

e Can’t say / ®g gl 9bd

Correct Answer :-2H = 4U

16)
Question Stimulus :-

Of the following the strongest Bronsted base is - / fF=fafad #§ 9 yad s &R

8-

Cl0™~
Clo3
Clo;
Clo;

Correct Answer :-C10°

17)
Question Stimulus :-

If sulphuric acid solution has "' = % then its molarity is - / (¢ TeR & 3 faeaa
1 P =2 3 9t Iua Wieran gift-

1/100

1/50

1/2

1/200



Correct Answer :-1/200

18)

Question Stimulus :-
Oxidation number of P in F% jon is - / P0:” 3ma= & P $} sifefiae~ur ¥ 2-
e -3
° +7
* +5
e +3
Correct Answer :-+5

19)
Question Stimulus :-

Surface tension of Lyophillic colloids are- / &4 Hel Hﬁ?ﬂ?ﬁ' &I Yto dH1d glar %—

« less than water/ 9@ 4 49
e greater than water/ Gidl 3 3iftrs

e equals to water/ oid & dcd

« None of these/ §9H d P13 T8I

Correct Answer :-less than water/ oid d $H

20)
Question Stimulus :-

Galvanising is a process of - / ﬁﬁ‘ﬂﬂﬂwm%-
« Coating of Zn on Fe/ Fe IR Zn & WU &I
« Coating of Al on Fe/ Fe TR Al & QU+ &t
« Coating of Fe on Zn/ Zn WR Fe & QU &1

« Coating of Cu on Fe/ Fe W3 Cu & AU &1



Correct Answer :-Coating of Zn on Fe/ Fe TR Zn & QU+ &1

21)
Question Stimulus :-

Chemical formula of meta phosphoric acid is - / Hel BRWIN® 3 T JAA™AD I

o H2PO,
HPO,
Hy PO,
HyPO

Correct Answer :-HPDE

22)
Question Stimulus :-

During formation of chlorine from H% M0 \works as - / U g 91 1v Mn0:

ST ST 2-

Reducing agent/3Udi—A®$ Bl

Oxidizing agent/ ARNPRP BT

Catalyst/ IURP &I

Dehydrating agent/ fRSidi®R® @1
Correct Answer :-Oxidizing agent/ 3TFIIHR® BT

23)

Question Stimulus :-

Hybridization in X.0:% jon is - / X.0; W g1 8-
o Spid’
e Spid

o SPE dE



° dsz

3
Correct Answer ;=P ¢

24)
Question Stimulus :-

On heating ammonium dichromate the gas released is - / Mg Sgifﬁ'ﬁf cakie
H TR Gad g arelt 39 2-

« Oxygen/ 3fTate
e Ammonia/ 3HIf=aT

e Nitrous oxide/ ATSey MTHAES
 Nitrogen/ T-I'I?@ﬁﬂ

Correct Answer :-Nitrogen/ T-I'IE?I\?FI
25)
Question Stimulus :-

Mostly Transition elements are- / HHHUT YTy SfAwizmE: gt 3-
« Diamagnetic/ Ufag@E®a

e Paramagnetic/ &Iﬂﬂﬁﬂﬂﬂ
 Both the above/ SWIad il

« None of these/ S7H | ®Is g1

Correct Answer :-Paramagnetic/ 3/
26)

Question Stimulus :-

Strongest Ligand is - / US@dd fkAIvs 8-

. CN-

e DBIr™

. OH-



E-

Correct Answer :-CN

27)
Question Stimulus :-

In which types of reaction the Zigler Natta catalyst is used - / raR-ATeT IaR®
fra wpR B afifehar & wgaa g -

e Hydrogenation/ gsgiaiazu
Polymerization/ gt
Oxidation/ sifefiarur

Reduction/ 3=Taq

Correct Answer :-Polymerization/ Sgei®ur

28)
Question Stimulus :-

Gives white precipitate with Silver Nitrate - / RIeaR AT3¢e & T1Y Yhe QY T 8-

I

CHCl;

[}
o CH, =CHCI

(CH3)5CG— Cl

Correct Answer :-(CHBJ gt —El

29)

Question Stimulus :-

What will be obtained when phenol is distilled with 2" powder- / 99 BIFId &I 20
9ol & qry rafaa fpar Sirar € & ure g 8-

CzHzCHO

CzH:COOH



CgHzCHs

CeHe

Correct Answer :-C'SH'5

30)

Question Stimulus :-

CH, CH, CH, CH,
The product formed when “o” react with RMgX is- / “o’ &t
RMgX & 914 AfHfpar M@ IR IdTE U g 8-
. RCHOHR
. RCHOHCH;
« R;CHCH,OH

o+ RCH,CH,OH

Correct Answer ;-RCH2CH;0H

31)
Question Stimulus :-

Compound that gives cannizzaro’s reaction is - / 98 9iffi® s HfAwRY sifufspar 3m-
benzaldehyde/ SuifcSsTss

acetaldehyde/ TRIcSEIES
bromobenzene/ EICICEIR]

propanal/ PIVETS]

Correct Answer :-benzaldehyde/ aﬁ‘%'ﬂ?fé

32)
Question Stimulus :-

The Equivalent weight of potassium dichromate in acidic solution is- / TR

STSHIAC BT 3T faead & gedie WR © -



e 49

e 98

24.5

e 204
Correct Answer :-49
33)

Question Stimulus :-

Che%mical name of semipermeable membraneis - / MGURIT ﬁlﬁ‘ﬂﬂv‘r LGIBIEED
¥ &-

« Copper ferrocyanide/ 1R BIRTHIAISS

« Copper ferricyanide/ SR BIAGATES

e Copper Sulphate/ IR Jebe

e Potassium ferrocyanide/ tﬁ%ﬁ]’ﬂﬁﬁm
Correct Answer :-Copper ferrocyanide/ PO ﬁm

Topic:- Physics
1)
Question Stimulus :-

Rainbow will be formed, if sun is on following angle less then above the horizontal- /

s5UdY §9a1 ¢, Ofe AT F IR W A FU A I W &:

o

° 20

o

e 30

o

e 40

* 60
Correct Answer :-40D
2)

Question Stimulus :-



For a healthy eyes the resolving power limit will be - / W AT $t f[aeT i @y %—
o T’

° III

. 1)
Correct Answer :-I’
3)
Question Stimulus :-

If the diameter of an object lens is 0.1 m and wavelength of light is 6000 :"D,
then its resolving power will be - / T g3l & AMUEAD &1 AN 0.1 Hiex TUT BT

&1 aed 6000 * B, @ 3P AU &war @y ghft-
o 61075 Radian 6 X 10-5{f3aa
o 6x107° Radian / 6 x 1075 Xf34=
o 6x107%Radian /6 x 107 LiELE
o 7.32 %107 Radian ; 7:32 % 10-¢ Y394
Correct Answer :-7-32 X 107 Radian ; 7.32 x 10~¢ {524
4)

Question Stimulus :-

If we move from surface to centre of a charged metal sphere the electric field will be -

/ UTg & ARG N & o6 A Fg P 3R 91 W fagaa-a3-
e increased/ SgdT 3
o decreased/¥edl &
e same as surface/ 58 & 9UTH Y&l §
* zero at each point/ YaA® fig W = gaT &

Correct Answer :-zero at each point/ Ud® fdg W I ¥&d1 @

5)



Question Stimulus :-

Cathode rays are - / PUTS W%—
* Electro magnetic waves/ﬁ@'ﬂ'ﬂ Yao g a3l
* Flow of changed particles/ STAfRd SN HT UaTe
* Flow of high energetic eIectrons/T—ﬂT:I’iTl'lﬁ sﬁaﬁ-—ﬁ CaR*CIE
* Flow of Neutron/ﬂ;“ﬁ-ﬁ CARCI

Correct Answer :-Flow of high energetic electrons/dtamHt gaaer-l &1 yag

6)
Question Stimulus :-

Transistor is make from- / gifoier S99 W1 3-

e Conductors/ ITA®! I

* Insulators/ ﬁ?ﬁﬁ A A

e Doped semiconductor/ SifUd gaTa®! A

e Mixed Material/ 3Mqurg &
Correct Answer :-Doped semiconductor/ Sifud APl |
7)

Question Stimulus :-

Which waves are used in transmission - / gRIAR & S 4T SUGH -
e Ultra violet/ WRT4T!
e Infrared rays/ Sfd¥dd
® Short waves/ ﬁ&ﬁﬁiﬁ
e Visible light/ U UBIRI
Correct Answer :-Short waves/ J&9a<il

8)

Question Stimulus :-



Which of the following dipole has maximum potential energy? / 9§ fom %gaa%
Rufasr et sifyrway grfr?

Correct Answer :-1 T

9)
Question Stimulus :-

125 same small drops are charged with 50 volt potential each. If they formed one big
drop after mixing them, the potential of new big drop is - / T& JUT §¢ fo®! @I 125
2, Ud® P 50 diee fava T Ml fpar wirar 81 319 3% Sies®? a4t 74t g &1 fava ghm-

e 50V

e 250V

e 500V

e 1250V
Correct Answer :-1250 V
10)

Question Stimulus :-

Kirchoff firsts and second law shows the conservation respectively - / fpware & gud 3R
fodra frraw swar: wwaror gafd @-

e Linear and angular momentum /Y@ | 3R HI0g AT HT



e Charge and Energy/ 3Ta% 3R Sdll &1

e Momentum and Energy/ T 3R SHuif &1

¢ Momentum and linear momentum/ 3T 3R ¥ HaAT BT
Correct Answer :-Charge and Energy/ 3ITa%T 3fR &l &1
11)

Question Stimulus :-

If I current flows in a circular loop of radius ‘r’' then magnetic dipole moment in

equivalant to it, is - / U gaild U 3 4T r 3 I I URT UaIfed 81 36 8, S9P god eIy
fasta @1 amyvf ghm-

o IT

e ZmIr

o Imre

I

*]

[

e T

Correct Answer :-I™""

12)
Question Stimulus :-

The additional pressure in liquid drop is - / &d @I Ti'q"\ef Srfafved ge gidr %—

m

2T
Correct Answer :-R

13)



Question Stimulus :-

At 27°C the volume of a gas is V and pressure is P. After heating it the pressure
and volume increase two and three times respectively. What is the resultant

temperature of gas.- / 27 C U U®H A9 HT ATYdT V 3R 19 P g1 38 TRH a1 wirar 8
o 39T S AT TE = i+ A1 8 oIraT 81 A9 &1 uRumdt arg ghm-

152°C
600°C
324°C
1527°C

Correct Answer :-1°27°C

14)
Question Stimulus :-

If the hot body temperature increase by 50% then the value of emitted radiation

increased with - / If¢ T TH a¥g & a9 & 50% gfex F= &t 14 ) 9P IAfora fafepeor Ht qrm
o g e gt -

* 12.5%

°* 200%

e 300%

* 400%
Correct Answer :-400%
15)

Question Stimulus :-

The required pressure ratio in adiabatic change-and isothermal change to reduce
similar volume of a gas is - / {5l 19 & mgaa # GUH HH HA & o) T TYT FHATHY
faftry ¥ srra=xg® g &1 uTd g T-

o T

° 1/]"

° ¥—1



« /("™
Correct Answer :-V
16)
Question Stimulus :-

If a = -bx is a particle motion equation where a is acceleration, * is
displacement and b js constant then oscillation time period of particle is- / T&h

gTUTnﬁnﬁrWWWF‘W T Wgl a v, * faxyra= aur P fFradie 1 01 &1 ad s1d

2./mjb
2 /b
2 /b

o 2mVb

B
Correct Answer :-27/V?

17)
Question Stimulus :-

In total internal reflection the value of critical angle will be maximum when light

passes through - / QUi 3{idf¥® WRTad- & o4 Hifad HIur sifiean g safe fur STl 8-
* From Glass to air/®id 9 ga1 d
e From Diamond to air/gX 9 gar #
* From Glass to water/ $id ¥ Ul #
* From water to air/Ur-t ¥ a1 &

Correct Answer :-From Glass to water/ &id I U=t &

18)
Question Stimulus :-

Circular Motion is - / gt 7ifa gt 8-
e One dimensional / & faHig



e Two Dimensional/ fgfawia
e Three Dimensional/ ffaHg

* None of these/%*l'ﬁ' I aﬁ'ﬁg B

Correct Answer :-Two Dimensional/ fgfada

19)
Question Stimulus :-
Light year is a unit of - / UPHTR aY W%—
* Distance/ gil &1
e Time/ JHY &I
* Light Energy/ U&TRI Sl &1
® Mass/ SHHTA Pl
Correct Answer :-Distance/ gdl &1
20)

Question Stimulus :-

If 2 Amp current flows in a coil of 50 mH then storage energy in joule will be- / 50 mH

B P pUSEl § 2 TRRR $ YRT yarfed g4 W 9@ § dfua Swf grfl-
¢ 1
¢ 0.1
¢ 0.05
* 0.5

Correct Answer :-0.1

21)

Question Stimulus :-

A concave mirror which focal length is f. 1f an object of length 6 cm put away at
principal axis on 4f, then the length of its image will be- / Bleg I'® T 3ddd
4T & YT 3& UX 4f B gl WX 6 T ddl avg It B muﬁrﬁaaﬁm%

e 2cm/ 2 9+



* 4cm/ 4 W

e 12cm/ 12 I

e 18 cm/18 Jft
Correct Answer :-2 cm/ 2 9H}
22)

Question Stimulus :-

As well as the speed of fan increase same time current value will be- / SOi-g1 U Bt

e g el 7, -l UIRT-

®* increase/ aa?ﬂ %

 decrease/ ¥cdl @

® remains constant/ a'é’t !B?ﬂ %

* increase, upto maximum speed/ 3ift® gidl §, I & SfUPaH 4 db
Correct Answer :-decrease/ Ucdl @

23)

Question Stimulus :-
The resistance of ideal voltmeter is - / 3eRf dreefter &1 ufeRIY graT 3-
® Zero/ U
® Very less /ari%r 513
®* Very high/ GIﬁqua
e Infinite/ 34+
Correct Answer :-Infinite/ 3A+d
24)

Question Stimulus :-

If only 2% of main current flows in a galvano meter (with G resistance) then the value
of shunt resistance will be - / If¢ G UfeRIY & YRTATH & GBI YRT Ft Had 2% URT Yarfed
HT Y ol urRd ufoRiY &7 71 ghT-

* G/50



* G/49
e 50G
* 49G
Correct Answer :-G/49
25)
Question Stimulus :-
Colour of light may be find by- / USRI &7 T JTd fHar ST 8-
° Velocity/aﬂ'\ﬁ
e Amplitude/ 3TTH |

* Frequencey/ anqﬁﬁ
e Polarisation/{di®vur & fRAfT I

Correct Answer :-Frequencey/ 3G &

26)
Question Stimulus :-
Mass of photon in motion- / 7fd 3@RIT § WIelT BT SUH 8-

hv

o °
hw

hw

e Zero/ U

hv
Correct Answer :-¢°

27)
Question Stimulus :-

Which of the following in not electro magnetic wave - / frrafafea & 9 #9149 It ﬁgqa
YaPIg a3 T8l 8-



o Y rav/y— fHIUY

* x-ray/ x- fpul

e Sound waves/ @ a3

e Radio waves/ If&di a<it
Correct Answer :-Sound waves/ @ a3
28)

Question Stimulus :-

Spectrometer is mainly used to measure - / WagHIeI BT BT Y I 5T AU H ITFHT
foan srar 8-

° Wavelenth/?-l'\i'lﬁ‘af

° Intensity/?ﬂ'@l?IT

® Polarization/{dur

. Scattering/ﬁﬂ?ﬁr
Correct Answer :-Wavelenth /d3icsl
29)
Question Stimulus :-

A prism has an angle ofSD and for red and violet colour its refraction are 1.5 and 1.6

respectively. Angular dispersion of prism is - / T®h e &1 P SD%I drd 3R ST T & ol
SUGdIP PHRN: 1.5 3R 1.6 g1 FUeH gRT IU=1 HIvityg faegur 8-
7.75°

"

e 5
e 0.5
e 0.17

Correct Answer :-0.5C

30)

Question Stimulus :-



Doppler Effect concern with - / SIWR YUTT afid &-
* Frequency/ anql%r
e Reflection/ WRTadd
e Intensity/ Udddl

e None of these/ T8 ¥ P18 |

Correct Answer :-Frequency/ 3gfxi

31)
Question Stimulus :-

The momentum of heaviour object A is equal to lighter object B, then - / T®h Yt fuus A
TYUT GO gob fUUs B & AT I ¢ ol-

* Velocity of B is less than A / B &I T A J HH aTIT
e Velocity of B is greater than A/ B &1 3 A I 3if¥& g
e Both have same velocity/ 39l & 37 JHT 81
®* Nothing to say/ 9 =|"Eﬂ Dol SIT Hhdl
Correct Answer :-Velocity of B is greater than A/ B &T a7 A ¥ 3T g

32)
Question Stimulus :-

The orbital speed of a satellite revolve very near to earth surface is - / q%’ﬁ & offq a¥ig
ReFuT FR 9Td SR FI wel ard gidl 8-

o V=128R

e V=128R
o W= .\‘-"ﬁ
e V=28R

) — lI'_
Correct Answer :-’ ~ VER

33)



Question Stimulus :-

Our sky looks like blue at the time of sunrise and sunset because in this position_the
scattering will be - / JaTea 3R gafe & way s Hrar faard a1 8, TP 3w AR § uadiof
gl &-

e Minimum /< Tad
e Maximum/3fipan

* Non regular/3fafia

* None of these/ T8 | $I3 gl

Correct Answer :-Minimum /<JdH
Topic:- Maths

1)

Question Stimulus :-

3+2i
3-2i

Correct Answer :-1
2)
Question Stimulus :-

If 25x+83%+1 316 jn A.P. Then the value of * will be - / gf¢ 2% +8 3x+ 1 gurv gofy
H g, 99 * &1 71 8-



Correct Answer :-5

3)
Question Stimulus :-

Two numbers differ by 3 and their product is 504. The numbers are- / & TSAT3M HT 3dR 3 TUT
BT UG 504 €, T TBATT 8-

e 18,621

19, 22

20, 23

21, 24

Correct Answer :-21, 24
4)

Question Stimulus :-

If 12p_ =1320 then "=’ / 1fg 12p, =1320, a9 " =’

Correct Answer :-3

5)

Question Stimulus :-

‘] -3
x° x°

Iff":“%*xf*f*"'m, then * =7 / !T%YZH%JFTFEJ""W,WX:?
o lOZe¥
1.Dg.=_.1
e ¥
e¥

e
e ©



Correct Answer :-92=7

6)

Question Stimulus :-

1 0 0 1 0 0
A=(0 1 0| 3 A=(D 1 0| ﬂ
If a b -1 then® =7/ gfe a b -1 qg& =

* Unit Matrix/ $PTS 3TE
* Null Matrix/ [ 3THYg

e A
Correct Answer :-Unit Matrix/ S®TS 3TE
7)

Question Stimulus :-

If sin 8+ cos8 = 1,thensin 8 cos @ =7 / -qﬁsin8+cosl3:1,aasin8cnsﬂ =7

e 12
Correct Answer :-0
8)
Question Stimulus :-
In MBC jpa=3b=4c=5 ppan sin2B=7 , gfy ABC, fa=3b=4c=5 ggsin2B =7
e 4/5
e 3/20
e 24/25
e 1/50



Correct Answer :-24/25

9)

Question Stimulus :-

in—11y oin-12 S R IR e |

5in +s5in™t-=sin" '< sin"~-+s8n "-=3s5in" "% o ]
If 3 3 then *=’ 7 Tfe 3 3 ag * =7

0

J5—-442
° 9

V5+4/2
[ ]

™
o 2

\l"‘§+‘4"\.l'r§

Correct Answer :- °

10)
Question Stimulus :-

If three points (p+1, 1), (2p+1, 3) and (2p+2, 2p) are collinear, then p=?/ gfe
d9 fig (p+1, 1), (2p+1, 3) 3R (2p+2, 2p) T §, 99 p=?

Correct Answer :-2

11)

Question Stimulus :-

A line passes through the point (2.2) and is perpendicular to the line +y=3 s

y-intercept is - / T W¥a Y1 g 2 § ot @ qur a1 1V =3 & wwad @, s"et y
— 3II:TWUS HT 8?2

* 13



°* 2/3

e 1

* 4/3
Correct Answer :-4/3
12)
Question Stimulus :-

Centre of circle &~ )&= %) + G-y -y2) =045 _ s g
() (x =) + &~y ~¥2) = 0 g7 g B-

(Xl +y %+ }’2)
d - 2

L }’2)
° 2 72

(Xl +x; y1t+ I\"z)
2 12

(K1 ;Xz JYI ;Y:)

(31 +xy ¥yt }’z)
Correct Answer :-" 2 2

13)

Question Stimulus :-

The length of latusrectum of the ellipse MW Hyyi=lig_ yddqm X T =1%
Y $ 1S 8-

e 3/2
° 83
° 4/9
° 89

Correct Answer :-4/9

14)

Question Stimulus :-



%BY are the anglesl which a line makes with positive direction of coordinate
axes, then Sit” @ 4 sin” B+ sin”y =7/ gfy « B fareft wa Y1 gr1 fAd=nel @ A fexm
W@Wﬁaﬂ' sin® a 4 sin f+ sin® y =?

Correct Answer :-2

15)

Question Stimulus :-

x—3  y—2 = 3 4 71

=1_u%-

-1
The straightline @ 1 © js / IR@ ¥&@l

s
3

e parallel to x-axis/ x-3{& & JHHTR
e parallel to y-axis/ y-3& F JHTTRR
® parallel to z-axis/ z-3{& & AT
* perpendicular to z-axis/ z-3{&l & qHdq
Correct Answer :-perpendicular to z-axis/ z-3{& & T

16)

Question Stimulus :-

If the planes * " 2V T ¥2=0 gng 2+ ¥~ 22=0 _ 3¢ at right angles, then the value of

kis/ aie guaa <t ¥+ =0 x+y- 22=0 _ qraRr avaaq g, a9 k FTHF & -
o _1/2
e 12
° 2
e 2
Correct Answer :-2

17)



Question Stimulus :-

FD2+GE P2+ ER) =2

®* None of these/ sﬂ'ﬁ 3 Hﬁ'sf Tl

=

Correct Answer :-

18)
Question Stimulus :-

G-b)x(3+b) =2
o Z(EKEO

3 —
e aXb

2_p2
e 2°— Db

®* None of these/ 'Q"'-l'ﬁ J Hﬁé B

Correct Answer :-2(@% b)

19)
Question Stimulus :-

L(Gxk) +h(kxi) +kGxi =2

Correct Answer :-3

20)



Question Stimulus :-

If . 103[1 tﬂ, then J [%] = / afe fx) = log 1J—rﬂ, dd f [%] =
o [
o [P
. 26®)
o 3f®

Correct Answer -2

21)

Question Stimulus :-

2 llog (log 9] =2
= og (logx)] =7

X

logx

logx

[ ] X

(xlogx)?

* None of these/ sT-Iﬁ T aﬁ"&‘ el

-1
Correct Answer :-x102%)

22)

Question Stimulus :-

o, o e -
If v = sin (2sin7'%), than ax = / gfg v =sin (2sin™'x), qq = =




2 + 4x%?
™ *'q'"j. + X2

2 —4x?

2
&

Correct Answer ;-V1—x
23)
Question Stimulus :-

.. . — 943 _ 21x2 — 90 -
The minimum value of the function ¥ = 2%° — 21x" + 36x— 20 1o _ / tpqq
..V= 2}{3— 21X2+ 36]{— 20 WWW%_

® -128
® -126

* -120

®* None of these/ sT-I'l?r 3 Hﬁi L

Correct Answer :--128

24)

Question Stimulus :-

[——dx =?

x(logx)

1

logx

1

logx
loglogx +c
—loglogx +¢c

1

Correct Answer ;- 198%

25)
Question Stimulus :-

[tan1xdx =?



1 ) -
xtan lx + Elog (1+x¥)+c

1 o
xtan"lx — Elog (1+x%) +c
(x—1)tan %+ ¢
o Xtanlx—log(1+x%)+c

1 .
xtan"lx— —log(1+x%) +c
Correct Answer :- 2

26)

Question Stimulus :-

ILJ
(x+D(x+2)

x+2
log +c

° x+1

log(x+1)+log(x+2) +c

x+1
log +c

° x+2

None of these/ET-I'l?f I ﬂﬁi &l

-1
Correct Answer - x+2

27)

Question Stimulus :-

ralx

ycosx
dx =?

—L yvesinx++/cosx

0

k3] A

=] g

* None of these/ sqﬁ J EI-ﬁ'sc L)



T
Correct Answer :-4

28)
Question Stimulus :-
dy dy
. . —+3y=x. X —+3y =
Solution of * =R is-/ B SRR Pl Td %—

4

x5 +X—+c—ﬂ
Xy + =

x3 —X—+c
° Y—4

x3 +§—{]
° ¥ 4

®* None of these/ ET-I'l?r J Hﬁ'é L

1§4

dy=—+c

X
Correct Answer :-

29)

Question Stimulus :-

The order and degree of the differential equation & A \dx) are / 3dddA

ﬁ_ 1 'EZ
HHIHROT &= + G ot Pife Td U &-

dy [- +(d3’

° 4,2

Correct Answer :-2,2

30)
Question Stimulus :-

Two dice are thrown simultaneously. The probability of getting the sum 2or8or12is- / al

Y B T 914 b ST U 1T 2 T 8 T 12 U B3 P UrfiepdT 8-



e 5/18
e 7/36
e 7/18
* 5/36
Correct Answer :-7/36

31)
Question Stimulus :-

A coin tossed 4 times. The probability of getting atleast one head is - / Wﬁﬁiﬂ 4dRR
BTN STAT 3, FH I B TP IR Y U H Bt Wiy &-

e 1/16
e 2/16
e 14/16
e 15/16
Correct Answer :-15/16

32)

Question Stimulus :-

If coefficient of correlation between the variables * and ¥ is zero, then - / gfe W

X R Y ¥ i YeuwEY oNe TN 8, 99 -
e “and ¥ have no relationlxemy%ﬁﬂaﬁg\‘iﬁﬂqﬁ%

Y decreases as * increases/ ¥ 9cdl T o9 * dedl T

Y increases as * increases/ ¥ 9¢dl § 9d * 9¢dT @
e None of these/ 3H | ®I§ 8!

Correct Answer :-* and ¥ have no relation/* 3R ¥ & ¥ ®Is 999 T8I &

33)

Question Stimulus :-



If correlation coefficient be zero, then the lines of regression will be - / W%W?I'{[UW

A §, 99 FEIHY X@TE g-
e Parallel to axes/31&l & AR
e Perpendicular to axes / 3&if & [SESEG
¢ Inclined at any angle with axes /ar&ﬁ' ¥ frdt f IR Egﬂﬁ E‘s‘
e Coincident /ﬂ"lTl?ﬂ
Correct Answer :-Parallel to axes/3{&f & THFTR

34)

Question Stimulus :-

xpiap

. h_. )
f flx)dx = E[(}'u Y )t Ayt Yt Yo ) 20 H ¥y + o+ Yp2)]

The formula = is known
as- / gA
x0+np
| rodx=3100+ 30+ 40+ 35+t 3 D 4200 +ys+ ot 7))
& HeaTdl 8-

1r|:l

Simpson’s (5) rule /RAaq &1 G) fam

3

th 3
Simpson'’s 8 rule /R aa= &1 G aw
Trapezoidal Rule/ 9H@W a9

None of these / ?Fl'ﬁ I ﬂﬁ'{ L

lrd 1

Correct Answer :-Simpson’s (5) rule /R g &1 (5) ffam



